Model No: BHP441

V/17:7,dbd;

Page 1/2



'Illjl,x!‘!‘!"a

e

Model No: BHP441

Parts List

ID Part No Name Qty Notes

1 ok ok ***  Click for Technical Bulletin Y04702
2 *xk i ***  Click for Technical Bulletin 91055
3 266130-9 TAPPING SCREW BIND PT 3X16 8

4 ok ok ***  Click for Technical Bulletin 79564
5 419250-0 F/R CHANGE LEVER 1

6 *xk rkk ***  Click for Technical Bulletin 91055
7 631688-1 LIGHT CIRCUIT 1

8 *kk *xx ***  Click for Technical Bulletin 91055
9 251468-5 - FLAT HEAD SCREW M6X22 1

10 763196-5 KEYLESS DRILL CHUCK 13 1

11 253798-0 FLAT WASHER 13 1

12 *xx ***  Click for Technical Bulletin 79564
13 638425-4 YOKE UNIT 1

14  619164-5 ARMATURE 1

15 ** rrk ***  Click for Technical Bulletin 91055
16 *** rokk ***  Click for Technical Bulletin 89544
17  263032-0 RUBBER PIN 4 2

18  w* ok ***  Click for Technical Bulletin 76192
19 266130-9 TAPPING SCREW BIND PT 3X16 2

20 911006-2 PAN HEAD SCREW M3X8 1

21  689145-3 HEATSINK 1

22 232220-0 LEAF SPRING 2

23 ok ***  Click for Technical Bulletin 91055
24 266045-0 TAPPING SCREW 4X20 4

25 ok ***  Click for Technical Bulletin 97940
26  251314-2 + SCREW M4X12 1

1001 122576-8 STOPPER POLE ASS'Y 1

1002 *** *xx ***  Click for Technical Bulletin 92649
1003 251314-2 + SCREW M4X12 1

1004 *** rxx ***  Click for Technical Bulletin 91005
1005 *** rxx ***x  Click for Technical Bulletin 74034
1006 *** rkk ***  Click for Technical Bulletin 88257
1007 784637-8 +- BIT 2-45 2

1008 *** rokk ***  Click for Technical Bulletin 92893
1009 450128-8 BATTERY COVER 1

Page 2/2


https://ecommerce.makita.com.au/online/LINKS/technical/PDF/Y04702-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/91055-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/79564-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/91055-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/91055-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/79564-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/91055-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/89544-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/76192-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/91055-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/97940-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/92649-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/91005-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/74034-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/88257-WW-1.pdf
https://ecommerce.makita.com.au/online/LINKS/technical/PDF/92893-WW-1.pdf

